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I - CLASS)
MATHEMATICS PAPER-II TIME ALLOWED: 2.30 Hours
SUBJECTIVE MAXIMUM MARKS: 80

NOTE: - Write same question number and its part number on answer book,
as given in the question paper.

SECTION-I
2. Attempt any eight parts. 8x2=16

()  Find f'(x)if f(x)=-2x+8
.mf-ﬁ

(i)  Evaluate Li
x—2 X — 2

. 0
(i) Evaluate Lim 5%

x>0 X

(iv)  Diff. wrt. x by definition 2x* +1
(v) If y=x*+2x*+2 thenfind %

. . dy. 3 9
Find = if y= +1
(vi) in dxl y=(x )

(vii) Find % if x> -4xy-5y=0

(viii) Diff. Sin’x wurt. Cos’x

ax —-ax

(i) Find f'(x) when f(x)=*—"%_
e +e

(x)  Find id if x=at*, y=0bt!
dx

. . . 4x’
(xi)  Apply Maclaurin’s series to prove that e** =1+ 2x + —xz—- +—————

(xii)  Determine the interval in which f is increasing, f(x) =4 — x*, x e (-2, 2)

3. Attempt any eight parts. 8x2=16
)] y =x> -4, x changes from 3 t0 3.02. Find & y.
(i)  Evaluate | dx

x+2

-2—1‘_2 dx by substitution.
yai - x

(iv)  Evaluate I x Sinx dx

(iii) Evaluate |

(v)  Evaluate Je" ( L + Enx) dx

x
dx
vi —————— evaluate it.
) I x* +4x +13
% 1
(vil) Evaluate J. .
o1 —Sinx

2
(viii) Evaluate j’ (x* +1) dx
1
(ix)  Find area between X —axisandthecurve y=x*+1 from x=1 to x=2.

2
(x) Solve fl_}_l P .})_.:ﬂ
dx *

e
(xi) Graph 2x+ y>2

2x =3y <6, 2x+3y<12

ii) Find oints of
(xii)  Find corner points o ¥20, 720

P.T.O.
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(2)
4. Attempt any nine parts. 9x2=18
() Find the inclination of line joining the points 4(3, —2) and B(2, 7)
(i1) By means of slope, show that the points (-1, ~3), (1, 5) and (2, 9) are on the same line.
(i)  Convert the equation of line 2x — 4y + 11=0 into slope-intercept form.
(iv)  Check the point (-2, 3) lies above or below the line 3x — 5 y+8=0
) Find measure of the angle between the lines represented by x> - xy — 6 ¥ =0
(vi)  Find radius of the circle with equation x* + y* +12x =10y =0

(vit)  Check position of point (5, 6) with respect to the circle x> + YV +6x -4y +—=0

1
2
(vii))  Find focus and vertex of the parabola x> = —16y

(ix)  Find equation of ellipse with foci (%3, 0) and minor axis of length 10.

(x) Find a unit vector along the direction of vector v = — 3/—Ei _1 Jj

27 2=
(xi)  Find a real number & so that vectors u and v are perpendicular,
u=2ai+ j-k, v=i+aj+4k

(xii) Compute a x b if a=2-6j-3k, b=4i+3j-k

(xiii)  Prove that the vectors i — 2 J+ 3k, -2i+3j-4k and i-3 J + Sk are coplanar.

SECTION-II
NOTE: - Attempt any three questions. 3x10=30

5(a) Find f(“hZ“f(“)

and simplify where [ (x) = Sinx
1

by If y= -
(b) y&&

show that Zx% +y= 2x

6.(a) Solve iJi=—3-x2+x—3 if y=0 when x=2
dx 4
(b)  Prove that the linear equation ax + by + ¢ =0 intwo variables x and y represents a straight line.

7%
7. (a) Evaluate J’—S‘i"—";
o Sin@ + Cos@

(b) Minimize z =3x + y subject to the constraints 3x + 5y >15 x+6y29
x=0 , y20

8.(a) Find an equation of the circle passing through 4(3, —1), B(0, 1)and having centre at 4x — 3 y-3=0

(b)) If u=2i+3j+4k, v=-i+ 3j—k and w=1i+6j+ 2k represent the sides of a triangle.
Find value of z.

9.(a) Find an equation of the parabola with focus ( -3,1) and directrix x -2y -3 =0
(b)  Provethat Sin(a — ) = Sina Cos B — Cosa Sin by vector method.
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Paper Code 2016 (S) Roll No:
Number: 8191 INTERMEDIATE PART-II (12" CLASS)

MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes

OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The cheice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions as
given in objective type question paper and leave others blank. No credit will be awarded in case

BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1

(D
@)

€

(4)
&)
(6)

Q)

®
®
(10)

(11)

(12)

(13)
(14

(15)
(16)
17)

(18)

(19)
(20)

If x=a”then y= (A) log,x (B)log,a (C)log,x D) x*
If f:X > X isdefinedas f(x)=X then f(x) iscalled:- (A) Constant function
(B) Exponential function  (C) Identity function (D) Logarithmic function _
1 2 1
Derivative of Vx at x=a is:- A) — B) — C) ——= D) 2Ja
(A) o (B) T © ol D)
2= A) xa*~'  (B)a* ©) 2 (D) a*fna
dx fna
d 1 1 1 1
— log(5x) = A) — - (B) — C) - x5 D
dxog(x) ()x ()Sx ()x>< ()xm5
d , ;
;Zx—(xz +f(x))= (A) 2x + f'(x) (B) 2x + f(x) (C) f'(x) (D)2x+0
d
—(Cos™'x) =
dx( 08" x)
1 1 1 1
(A) B) ——— ©) == (D) ——=—
1-x? 1-x? NV xi=1 xt-1
| 22" = (A) tan™ x (B) £n|x* + 1| (C) 2tan” x (D) 2xtan™' x
x°+
1 N 2 | 2
jx—zdx_ (A) tnx (B) Inx ©-Y o —/x3
n ! n " n 2 x ik x
J£700.£760) e = @ S Ore ® e ©L2 o LW
1
.[Enx.—dx =
x
2 2
(A) (5”2’“) (B) fn(¢nx) (C) fnx tnx (D) -(Z”Tx)-mx
b
J'—l—dxz (A)Zn(g-) (B)Zn(é) i1 mys-a
X b a b a
The distance of point (~1, 2) from x — axis:- A)-2 @) -1 O 1 D) 2
Equation of line bisecting 2" and 4™ quadrant is:-
(A) y=x (B) y=2x ©C)y=-x D) 2x =4y
Point of intersection of lines x =3, y =2 is:-
(A) (3,2) B) (2,3) (©) (0,0) (D) Does not exist
Number of points which satisfy x + y <2 is:- (A) 1 (B) 2 (C) Finite (D) Infinite
If e iseccentricity of hyperbola then:- A)e=0 B)e=1 (C)0<e<l (D)e>!1
Set of all points equidistant from a fixed line and a fixed point is called:-
(A) Circle (B) Parabola (C) Ellipse (D) Hyperbola
Forany vectors u and y;u+v=  (A)u-v B)v+y Cv-u D)u.v

If a,b arevectorsthen @ x b=
(A) abSiné (B) abCosén (C)b x a D) -b x a
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Paper Code 2016 (S) Roll No:
Number: 8193 INTERMEDIATE PART-II (12" CLASS)

MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes

OBJECTIVE MAXIMUM MARKS: 20
Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions as
given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.
Q.No.1

(1) Number of points which satisfy x + y <2 is:- (A) 1 (B) 2 (C) Finite (D) Infinite

(2) If e iseccentricity of hyperbola then:- A e=0 B)e=1 (C)0<e<l (D)e>1
3) Set of all points equidistant from a fixed line and a fixed point is called:-

(A) Circle (B) Parabola (C) Ellipse (D) Hyperbola
(4) Foramyvectorsy and y u+v= (A)u-v B)v+y C)v-u D)u.v

(5) If a,b arevectorsthena x b =

(A) abSin@ (B) abCosOn O bxa (D) -b x a
(6) If x=a’ then y= (A)log,x (B)log.a (C)log,x D) x°
(7) If f:X > X isdefinedas f(x)=X then f(x) iscalled:- (A) Constant function
(B) Exponential function (C) Identity function (D) Logarithmic function
(8) Derivativeof vx at x=a is:- (A) —21; (B) % © —2—\1/—-2— (D) 2Va
©) i(a") = A) xa*"'" (B)a* © 2 (D) a*tna
dx Ina
d 1 1 1 1
(10) ?d;-log(5x)= (A) Z (B) ™ © il 5 D P
(1) %(xz + f(x))= (A) 2x + fi(x) (B)2x+ f(x) (C) f'(x) (D)2x+0
(12) %(Cos"x )=
A) 1 (B) - ! (©) __Val (D) 1
1—x? V1= x? Jxi-1 Jxi-1
a3 22" dx = (A) tan™x (B) £n|x* + 1| (C) 2tan™ x (D) 2xtan™ x
x° 41
(14) j;lz— dx = (A) fnx ® mx’*  ©-Y O —%3
2 n41
A5 [ 0 /) ax = @ r@rw ® re © L2 o LW
(16) j tne Loy =
x
2 2
(A) @—2")— (B) fn(tnx) (C) tnxtnx (D) g—”z")—_enx
a7 Ildx= (A) En(g] (B) Zn(éJ (C)l—l D)b-a
° X b a b a
(18) The distance of point (~1, 2) from x - axis:- A)y-2 @B -1 O 1 D) 2
(19)  Equation of line bisecting 2™ and 4™ quadrant is:-
A)y=x B) y=2x ©y=-x D) 2x =4y
(20)  Point of intersection of lines x =3, y = 2 is:-
(A) (3,2) B) (2,3) ©) (0,0) (D) Does not exist
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Paper Code 2016 (S) Roll No:
Number: 8195 | INTERMEDIATE PART-II (12" CLASS)

MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes

OBJECTIVE MAXIMUM MARKS: 20
Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions as
given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1
M | an.—)l;dx -
A) -(—Z%)—z— (B) ¢n(¢nx) (C) tnxtnx D) @;)—zénx
(2 j%dx= (A) £n(—g—) B) Zn(%) (C)%—% D)b-a
(3)  The distance of point (-1, 2) from x — axis:- A-2 B-1 ©O1 @2
(4)  Equation of line bisecting 2" and 4™ quadrant is:-
(A)y=x (B) y=2x O y=-x (D) 2x =4y
(5)  Point of intersection of lines x =3, y =2 is:-
(A) (3,2) (B) (2,3) () (0,0) (D) Does not exist
(6)  Number of points which satisfy x + y <2 is:- (A) 1  (B) 2 (C) Finite (D) Infinite
(7)  If e is eccentricity of hyperbola then:- (A)e=0 B)e=1 (C)0<e<l (D)e>1
(8)  Setofall points equidistant from a fixed line and a fixed point is called:-
(A) Circle (B) Parabola (C) Ellipse (D) Hyperbola
()  Foranyvectorsy and vy u+v=  (A)u-v B)v+u Cv-u Du.v

(10) If a,b arevectorsthen g x b =

(A) abSin6 (B) abCos@ ©bxa D) -b x a
(11) If x=q’ then »= (A)log,x (B)log,a (C) log, x D) x°
(12) If f:X —> X isdefinedas f(x)= X then f(x) iscalled:- (A) Constant function
(B) Exponential function (C) Identity function (D) Logarithmic function
(13)  Derivativeof Vx at x=a is:- (A) 51; © ®) % (C) ﬁ_; D) 2va
a4 Lar)= A) xa*"' B) a* & D) a*tna
dx fna
d = 1 1 1. 1
(15) jd;-lOg(SX)— (A) " (B) 55 ©) " 5 (D) -
(16) gx-(xz +f(x))= (A) 2x + f'(x) B)2x+ f(x) (O f(x) D)2x+0
(17) %(Cos"x )=
@)= @) -— ©) —— (D) ~——
V1= x? N x? -1 x*-1
g 22" dx = (A) tan™ x (B) fn|x” + 1| (C)2tan™ x (D) 2xtan™ x
x° +1
1
(19) j-;z-dx = (A) fnx B) tnx*  (C) —% (D) —%3
Q) [/ de = @ @I ® o ©L2 o L0
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Paper Code 2016 (S) Roll No:
Number: 8197 INTERMEDIATE PART-II (12" CLASS)

MATHEMATICS PAPER-II TIME ALLOWED: 30 Minutes
OBJECTIVE MAXIMUM MARKS: 20
Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions as

given in objective type question paper and leave others blank. No credit will be awarded in case

BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.
Q.No.1

1) .i.(xz +f(x))= (&) 2x + f'(x) (B) 2x+ f(x) (©) f'(x) (D) 2x+0

d
2 — Tx) =
2) dx(Cos x)

1 1 1

1
A B) - ———— C) — D) - —
@ = ®) - — ©) == ©) -—==
3 | 22" dx = (A) tan™ x (B) fn|x* + 1| (C) 2tan™' x (D) 2xtan”' x
x°+1
@) j;lz— dx = (A) tnx B) tnx*  (C) —yx (D) -%3
2 n+1
) [f0) ) dx = @ rWre ® ro ©L8 o LW
(6) j L
X
2 2
(A) (_e%)_ (B) fn(fnx) (C) fnxtnx (D) (i"-;lenx
7 jldx= (A) en(ﬂj (B) én(éj ©Ll-L oyp-a
° X b a b a
(8)  The distance of point (-1, 2) from x — axis:- A)-2 @B -1 <O 1 D) 2
(9)  Equation of line bisecting 2" and 4™ quadrant is:-
A) y=x B)y=2x O y=-x (D) 2x =4y

(10) Point of intersection of lines x = 3, y = 2 is:-
(A) (3,2) B) (2,3) ©) (0, 0) (D) Does not exist
(11)  Number of points which satisfy x + y < 2 is:- (A) 1 (B) 2 (C) Finite (D) Infinite

(12)  If e is eccentricity of hyperbola then:- (A)e=0 B)e=1 (C)0<e<l D)e>1
(13)  Setof all points equidistant from a fixed line and a fixed point is called:-

(A) Circle (B) Parabola (C) Ellipse (D) Hyperbola
(14)  Foranyvectorsyand vy u+y= (Au-v B)y+u COv-u D)u.v

(15) If a,b arevectorsthen g x b =

(A) abSin6 (B) abCosOn ©)b xa D) -bxa
(16) If x=a’ then ,= (A)log,x (B)log, a (C) log, x D) x°
(17) If f:X — X isdefinedas f(x)= X then f(x) is called:- (A) Constant function
(B) Exponential function (C) Identity function (D) Logarithmic function
1 2 1
(18) Derivativeof Vx at x=a is:- A) — B) — C) —— D) 2+a
(A) y (B) T © NP D)
19 Loy = A)xa*'  (B) a* © 2 (D) a*fna
dx ¢na
@) L iog(sx) - WL B  ©ixs -
dx & X 5x X xfn5

14(Obj)(VEVETEIX)-2016(S)-2000 (MULTAN)


http://www.result.pk

- BOARD OF INTERMEDIATE AND SECONDARY EDUCATION,
MULTAN - —

OBJECTIVE KEY FOR _INTER (PART I/ 1) Supply Examination, 2016.
_\;.mcofSubjcctmg—j_/;; L //ﬂ Session

Q. : Paper i Paper | Paper Paper
Nos. . Code | Code | Code Code

811 G193 8135 8197

1. ! i
R
s 2
| ; :
i 4. ! |
B o |
‘I,‘g 0. é !
|
|

Y YU D AV

OBPO UL OIS A D ED L A D

WEIDONA DY R Y

W O \\,\v\bh .\v'\mkl\{n mmh

5> 29 n

% O
N

M

g
RN |
D A D
4 Z i
Key Bl Lo s e o i
v, i — . )
:.;;f 4! 24 fg 0/__7:u/”£_(7
Jr ,:":j-f,g{.:}fru’l_‘a_bfgSet Dbl ﬁﬁ{dggfugg;}f‘/;:f(Subjective& Objevtive)

N \y (\Q'l\‘\‘J

S Bl A 62018081 Iesk 21 _F

k4

ISy lieuus) u’g:;lq?ijo‘igl&fuﬁgﬁf Version,q_y%.é S Version d'{/(b;lwlf,g{,_ﬂr'; (e ubk

e o sy Le Been e QoS3 PSS Key Sz s ruTibL
- Keyuf&/d/uwlgyfjuwﬂfu '_/./J:’;;:Ll{u/zjfc,-,/’lgd/}.’;ya_leKeny‘,@g/“

PR PARED & CHECKED BY

SN0 Name Designation  Institution Mobile No. Signaluﬁé‘?
! ﬁag.eé«-------ﬂ/n%ug Q1c¢M<al.‘afﬁ.5Q£:76{303Q)? ............ : L
z C/AM47}/M AL G0 Ll 0372 s0fin. @52 .

3 Jato 44" Tilly L ol il ... Ofﬂﬁ/{(;?_%

4 ]waﬂdfl[/? G@wa 6333784918 M8


http://www.result.pk

‘g b Q o _SG 04 " . .

D i e 5018 (sl g ggaly
S L sy . |

T Ay TR ©3. /12675,

[ e P .

S _*;_“}fﬁ‘_‘“:q“':"':'i"&’ I

f)‘"} o ¥ [2e ‘Vn"h"’ . S

PG T TS B LG
T S ieal S S

B o2 -
/I Y \d N ~ i,
m ]
o ; e 7{ Crn) /) M, |
i
!

k"/ /laﬁm JlZ"‘/("W‘ ormof fl.rr\r(/t‘(psj'c'm t+/ m. l

L;;;‘ 2¢% - X/}&o . MW P S l}
"‘ ¢ ‘Sy A of av?/al,u l+1 "™ ',
‘r\l/; /&:«a/u:f 0%70(“ L M. :
S, fanobep el ot 141 M |
Wy Diflevenlindis Y -@wd“ﬁ %Aj . |

Ld . - - N * '. ;
(V/fi} D/»f:fe yutat o ol W C,&owr\ (nls e -~ ;

o, A,),,@%ZWA evnd I—rr\,,,«,(,,')h‘(mb‘m

x p,‘wnum oved  Cloain Inle 1+ M. |
B S ‘ _ ), o
» ’_‘ —‘- . ’ . ~ !

)()) D;#Wbﬁ—l»gw/,ﬂ‘ aw\(J W{"V\'D Wﬂ« )+ l |
)+ M i

v Inde et "
,("/ ; /(— il .y o] < ,j 2, s | ,’
:LIX/ /"‘/[7/7“ 4VM\&V4€eJ owd /7 Ej/,eﬁm R

|

A SV AR Sl !I
. ) /1/' “ 'l ﬁ

Afzu'?, awo! Cxmelt /W#J /t/ ;:l |
‘ :

|

|

SEReNED isiructions 1/



http://www.result.pk

) ey i ok ol o5 Bl (5l ) § (S gl
, OV T / ‘ »
R S X VRSV, WS Yo

i ~ -~ -
4 ).,/ (‘/‘ \~ ‘A.o-"j.. ,_L-' 2 ¥
\""'-M/."‘a,ll w/i."”,'f“"“ X, ¥ /
e

ST

. s

onap e 5 e
PRUTE I 7 2 13{; [ A2l 1
- A ?‘

v
S

TS S

. Nl |

| ("
) by foemuts codf frsdsf Clatlin GaZ
Y -~ ' - J /) az:‘,#mgﬂ i C'Z’)

5{”’/ W /= 32X %ﬂ S b M#W (l/
() foxdliy i pf (53D B 250t (/) |

v) A /%MM‘F/Z 7 (2)

O S %
i) foro M poifie "] P (I8 i

Ve

!
|

[\///// /Zw/ %,ﬂw 4 ey fexc | [/'/’j/
) fd ot ety el (7D
o magmitnde el A o Aseht (/’)itu

| ) o A
7 - vzo ot S

(+7)

-

(4
o ﬂﬁéf/o‘z 62
(7(///) 7 4 37 g,



http://www.result.pk

bk ‘-m-aum-uwh oedti) § Sould

‘ u)/r /) o/ /Y)/}"]// u,‘” D) // 20/6:)1’/

<

Z -y
(I:'CJJL)fgﬂLf& Key bile Lzt 2
2016081 ¢l 1 je s 2

SFECII0Al — 27

| 2 anof JLr)no/u;j Cor VDo

i;a?'((a’. /naé/rﬂl/m oo ant 1

"&lZ) CW'/”‘ S> tuhr | Snt .
'@ / 4, /n L(j/a*ﬁm 2 m
1 \é /45140(/%7 Feasyble /%'W":' 30 ancl p/w»«/

2 A
Minym 3"79"’\

w ! M‘W ‘ general instructions
QA) ‘ -

&?.qu ﬁ%%@fmé’i@ﬁﬁﬁf"""’” 24301

Gnd! 'Z"”’;/l a”m o\

e


http://www.result.pk

	0001.pdf (p.1)
	0002.pdf (p.2)
	0003.pdf (p.3)
	0004.pdf (p.4)
	0005.pdf (p.5)
	0006.pdf (p.6)
	0007.pdf (p.7)
	0008.pdf (p.8)
	0009.pdf (p.9)
	0010.pdf (p.10)

